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QUESTION 1

After installing DIMMs in all of the memory slots on a DL380p Gen8, only half of the memory can be seen. What is a
probable cause of this issue? 

A. Hyper-threading is not enabled in the RBSU. 

B. Half of the DIMMs are a slower speed than the other half. 

C. Onlyone processor is installed. 

D. Half of the DIMMs are 135 volts, and the rest are 1.50 volts. 

Correct Answer: B 

 

QUESTION 2

Which tool can be used to run Insight Diagnostics offline? 

A. ROM Based Setup Utility (RBSU) 

B. Intelligent Provisioning 

C. Post Boot Menu (F12) 

D. Option ROM Configuration for Arrays (ORCA) 

Correct Answer: B 

 

QUESTION 3

Why would you update HP Intelligent Provisioning on Gen8/Gen9 ProLiant servers? 

A. To update the SA agent used by Insight Control server provisioning 

B. To get access to the latest diagnostic and configuration tools 

C. To improve the overall system performance 

D. To update micro-codes in RBSU/UEFI 

Correct Answer: C 

 

QUESTION 4

What is an advantage of HP APM for scale-out compute in the Apollo 8000? 

A. More compute performance is realized. 
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B. Fewer components and cables are required. 

C. Less potential capacity is needed. 

D. Measurement of interconnect throughput is more accurate. 

Correct Answer: B 

 

QUESTION 5

You are trying to log in to the Virtual Connect Manager of one of the c7000 enclosures, out the Virtual Connect Manager
is disabled. What is a probable reason for this issue? 

A. The stacking link of the Onboard Administrator is disconnected 

B. The enclosure is managed by HR QneView 

C. The Virtual Connect Manager license is not enabled 

D. The Virtual Connect Manager and Onboard Administrator firmware versions are incompatible 

Correct Answer: B 
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